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2. Solve: xyp?=(x*+y)p+xy=0

dy see
Solvex="+y = x"y

4 Solve x3 + 5x + 1 = 0(mod27)

Find the Orthogonal Trajectories of E; + ;z—-— = 1, where A is a parameter.
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Solve the system of linear congruence by using CRT.

x = 3(mod5)
x = 2(mod6)
x = 4(mod7)

(i) Find the last digit of 72013,
(ii) Find the remainder when the number 21000 js divided by 13.

Find the general solution of the equation (px = y)(py + x)
Clairaut’s form by taking the substitution X = x4, Y =y

Solve 2x + 6y = 1(mod7)

4x + 3y = 2(mod7)

= a°p by reducing into
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